
https://www.leads4pass.com/1z0-074.html
2024 Latest leads4pass 1Z0-074 PDF and VCE dumps Download

 

 

 

1Z0-074Q&As

Upgrade Oracle DBA 11g or 12c to 12c R2

Pass Oracle 1Z0-074 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/1z0-074.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

Latest 1Z0-074 Dumps | 1Z0-074 PDF Dumps | 1Z0-074 Practice Test                                1 / 5

https://www.leads4pass.com/1z0-074.html
https://www.leads4pass.com/1z0-074.html
https://www.leads4pass.com/1z0-074.html


https://www.leads4pass.com/1z0-074.html
2024 Latest leads4pass 1Z0-074 PDF and VCE dumps Download

QUESTION 1

Which statement is true about transportable tablespaces? 

A. The tablespace data file or data files to be plugged in to the target database cannot have a different block size than
any of the source database\\'s data file or files. 

B. The cannot be dictionary-managed tablespaces 

C. The source tablespace can be encrypted D. They can be administrative tablespaces such as SYSTEM or SYSAUX 

Correct Answer: A 

 

QUESTION 2

In your CDB, DEPTCDB, local undo is enabled. You successfully execute this command: FLASHBACK PLUGGABLE
DATABASE hrpdb to SCN 424366; 

Which action must you perform next? 

A. Open HRPDB 

B. Take a backup of DEPTCDB 

C. Take a backup of HRPDB 

D. Open HRPDB with RESETLOGS 

E. Open DEPTCDB with RESETLOGS 

F. Open DEPTPDB 

Correct Answer: D 

Reference: http://dbaclass.com/article/performance-flashback-pluggable-databasepdb-oracle-12-2/ 

 

QUESTION 3

Users BIXBY, RLAYTON, and MURDOK each have a table named CUST_RECORDS in their schema. 

BIXBY has created a procedure, UPDATE_CUST, which updates the CUST_RECORDS table with 

invoker\\'s right. 

BIXBY grants the execute permission on UPDATE_CUST to the RLAYTON user. 

When RLAYTON executes the UPDATE_CUST procedure, which table does the procedure attempt to 

update? 

A. CUST_RECORDS table in Bixby\\'s schema 

Latest 1Z0-074 Dumps | 1Z0-074 PDF Dumps | 1Z0-074 Practice Test                                2 / 5

https://www.leads4pass.com/1z0-074.html
https://www.leads4pass.com/1z0-074.html
https://www.leads4pass.com/1z0-074.html


https://www.leads4pass.com/1z0-074.html
2024 Latest leads4pass 1Z0-074 PDF and VCE dumps Download

B. CUST_RECORDS table in Murdok\\'s schema 

C. CUST_RECORDS table in Rlayton\\'s schema 

D. CUST_RECORDS table in the schema of Bixby and Rlayton 

E. CUST_RECORDS table in the schema of Bixby, Rlayton, and Murdok 

Correct Answer: C 

 

QUESTION 4

In an Oracle 12c Release 2 database, USER1 has CREATE SESSION, CREATE PROCEDURE, and 

CREATE FUNCTION privileges. 

Examine these commands: 
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SYS executes this command: 

SQL> SELECT add_num(1,2) FROM DUAL; 

What is the result? 

A. An error is returned 

B. The message "The result is 3" only is displayed 

C. TESTDBA is created with the SYSDBA privilege only 

D. Only "3" is displayed 
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E. TESTDBA is created will the SYSDBA privilege and the message "The result is 3" is displayed 

Correct Answer: C 

 

QUESTION 5

Examine this parameter: 

Examine these commands: 

Which three are true after executing these commands? (Choose three.) 

A. All statements executed by SH are captured and included in a baseline. 

B. Statements executed by both SH and SYS may be captured and included in a baseline. 

C. Only statements executed by SYS are captured and included in a baseline. 

D. Only statements executed by SH containing the "TEST_ONLY" string are excluded from capture. 

E. Statements executed by any user containing the "TEST_ONLY" string are excluded from capture. 

F. Only repeatable statements executed by SYS and SH are considered for baselines. 

Correct Answer: AEF 
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